Physics and Astronomy Department
College of Science, King Saud University

Phys 104, Final Exam, Second Semester 4/7/1431 H

اسم الطالب:





الرقم الجامعي:


اسم عضو هيئة التدريس:




الشعبة:

k= 9×109 N.m2/C2,
εo = 8.85 × 10-12 C2/ N. m2,    |e| = 1.6 × 10-19 C,        G = 6.67 × 10-11 N.m2/kg2
mp = 1.67 × 10-27 kg,

me = 9.11 × 10-31 kg,
g = 9.8 m/s2,
μo = 4π × 10-7 T.m/A 

Choose the Correct Answer


Exam Duration: Three Hours

All Answers are given in MKS units unless stated                          
س1- الشحنة الكهربائية لـ  10 20 نيوترونا  تساوي:

Q1- The electric charge of 10 20 neutrons equals
A) 16 


B) 0


C) - 16


D) 3.2
س2- تبلغ القوة الكهربية بين جسمين كرويين متماثلين 40 N.  إذا كانت المسافة بينهما 2 m فإن شحنة كل جسم هي:
Q2- The resultant electric force due to two identical spherical bodies equals 40  N.  If the distance between both of them is 2 m, the electric charge of each is:

A) 10 4


B) – 10 - 4 

C) – 1.33×10 – 4
D) 1.33×10 4 

س3- إذا انعدم المجال الكهربي عند النقطة p  فإن المسافة x تساوي:
Q3- If the electric field vanishes at the point p, the distance x equals:
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A) 1


B) 6


C) 2.66

D) 1.63
س4- شدة المجال الكهربي عند النقطة p يساوي:

Q4- The magnitude of the electric field at the point p equals:
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A) 12.7

B) 9 


C) 18


D) 16.2
س5- مقدار زاوية المحصلة θ (س4) يساوي:

Q5- The angle, θ, of the resultant electric field, Q4, equals:

A) 36.8 o

B) 45 o


C) 53.1 o

D) 90 o
س6- عندما يتحرك إلكترون 4 m موازيا لمجال كهربي منتظم مقداره 500 N/C   فإن التغير في طاقة الوضع بوحدة  eV يساوي:
Q6- When an electron moves 4 m parallel to a uniform electric field of 500 N/C, then the potential energy difference in eV  unit is:
A) 2000

B) 125


C) 504


D) 496

س7- إذا كانت الشحنة (10 nC) موزعة بإنتظام على الكرة فإن المجال الكهربي بمركز الكرة يساوي:
Q7- If the charge (10 nC) is distributed uniformly, then the electric field at the center of the sphere is:
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A) 9


B) 0


C)  22.5

D) 4.5
س8- إذا كانت المجال الكهربائي عند نقطة على سطح مادة موصلة يساوي 1.77×106 N/C , فإن كثافة الشحنة السطحية عند هذه النقطة تساوي:
Q8- If the electric field just outside a charged conducting material equals to 1.77×106 N/C, the surface charge density on the conductor is:    
A) 2×1018

B) 0.5×10 -18

C) 15.7×10 -6

D) 6.4×104
س9- إذا كان المجال الكهربي على مسافة r  من خيط رفيع طويل جدا يساوي 5400 N/C وكانت كثافة الشحنة الطولية على الخيط هي     λ = 11.1 nC/m فإن المسافة r تساوي:
Q9- The electric field at a distance r near a very long thin charged rod is 5400 N/C.  If the charge per unit length of the rod is 11.1 nC/m, then the distance r equals:
A) 0.0185

B) 100


C) 200


D) 0.037
س10- إذا كان الجهد الكهربي عند النقطة p  يساوي الصفر, فإن x  تساوي:
Q10- If the electric potential at the point p is zero, then x equals:
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س11- طاقة التفاعل (الطاقة الكامنة الكلية) للنظام تساوي:
Q11- The total potential (reaction energy) for the system equals:
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A) 28


B) – 28

C) 252


D) - 252
س12- تزداد سعة المكثف بزيادة:


Q12- The capacitance of a capacitor increases with increasing:

 A) Voltage

B) Charge

C) Plates Area

D) Plates Separation  

س13- في حالة الإتزان, شحنة المكثف الثاني بوحدة µC  تساوي:
Q13- At equilibrium, the charge stored in the second capacitor in  µC  unit equals:
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A) 6


B) 0.006

C) 1.5


D) 0.0015
س14- مكثف متوازي اللوحين سعته 50 pF بين لوحيه مادة عازلة لها ثابت عزل K = 3 وقوة (شدة) عزل Emax = 10 7 N/C , ما أعلى جهد كهربي (Vmax) يمكن أن يتحمله المكثف إذا علمت أن مساحة كل لوح  A = 3 cm2؟
Q14- A parallel plate capacitor of 50 pF has a dielectric material with dielectric constant and strength of 3 and 10 7 N/C, respectively.    If the surface area of one plate is 3 cm2 what is the maximum voltage the capacitor can hold?
A) 398


B) 796


C) 1593

D) 576 
س15- السعة الكهربية المكافئة بين a و b تساوي:
Q15- The equivalent capacitance between a and b equals:
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A) 3.5 mF

B) 2.5 µF

C) 3.5 µF

D) 2.5 mF
س16- كم عدد الإلكترونات المارة في الثانية إذا كان مقدار التيار الكهربي 16 A ؟
Q16- How many passing electrons per second are there if the electric current is 16 A ?
A) 10 20

B) 1063

C) 10 19

D) 536
س17- سرعة الانسياق للإلكترونات (بوحدة mm/s) في موصل كثافة تياره 1 MA/m2 وكثافة ناقلات الشحنة فيه  1028 m-3 هي:
Q17- The drift velocity (in mm/s) of electrons inside a conductor with a current density 

1 MA/m2 and charge carrier density 1028 m-3 is:

A) 0.0625   

B) 0.016

C) 0.625


D) 0.16
س18- تضاعفت مقاومة موصل عند إرتفاع درجة حرارته من T إلى 3T.  إذا كان معامل المقاومة الحراري  α = 5 (10 -3 /oC  فإن درجة الحرارة النهائية تساوي:
Q18- The resistance of a conductor is doubled when the temperature is changed from T to 3T.  Knowing the temperature coefficient of resistivity (α = 5 (10 -3 /oC), what is the final temperature?

A) 100


B) 200


C) 300


D) 1000

س19- إذا كانت قدرة مكيف تساوي 2500 W فما مقدار تكلفة تشغيله بالريال السعودي  لمدة 400 ساعة إذا علمت أن تكلفة الكيلووات ساعة (kWh)  تبلغ 5 هللات؟

Q19- For an air conditioner marked 2500 W, what is the cost in Saudi Riyals if used for 400 hours, knowing that 1kWh costs 0.05 SR?
A) 1000

B) 50


C) 10


D) 0.5
س20- مقدار المقاومة المكافئة بين a و b يساوي:
Q20- The equivalent resistance between a and b equals:


[image: image8.emf]b

a

3R

2R

2R

2R

3R 3R


A) 4R


B) 15R


C) 6R


D) 7R
س21- ربطت ثلاثة مصابيح متماثلة كما في الشكل.  عند إغلاق المفتاحين فأي الجمل التالية صحيح؟ 
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Q21- Three identical light bulbs are connected in a DC circuit as shown. If both switches are closed; which of the following statements is correct?

A) Both bulbs 1 and 3 have the same brightness


B) Bulb 1 will be the brightest




C) Both bulbs 1 and 2 have the same brightness



D) All bulbs have the same brightness
س22- إذا كان التياران I1 و I2 متساويين, فإن V2  يساوي:
Q22- If I1 equals I2, then V2 equals:
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A) 25


B) 4


C) 1


D) 15

س23- إذا كانت الشحنة q تساوي 4 µC فإن القوة المغناطيسية تساوي:
Q23- If the charge q = 4 µC, then the magnetic force equals:
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A) 72


B) 36


C) 62.35

D) 31.17
س24- إتجاه القوة المغناطيسية (س23) هو:
Q24- The direction of the magnetic force (Q23) is:

A) (


B) (


C) 
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D) 
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س25- المسافةx  التي عندها تكون القوة المؤثرة على السلك رقم 3 تساوي الصفر هي:

Q25- When the magnetic force exerted on wire 3 is zero, then the distance x equals:
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A) 1


B) 2


C) 3


D) 4

س26- إذا كان المجال المغناطيسي يساوي 2 T فما كثافة الطاقة المغناطيسية؟

Q26- If the magnetic field is 2 T , what is the magnetic energy density?

A) 2(×10 -7

B) 2(×10 +7

C) 10 -7/ 2(

D) 10 +7/ 2(
س27- إذا مر تيار قدره 20 A في ملف سلونويد طوله 50 cm ويحوي 1000 لفة, فإن المجال المغناطيسي داخله يساوي: 
Q27- If 20 A pass through a solenoid of 50 cm length and 1000 turns, then the magnetic field inside the solenoid is:
A) 50.2 µT

B) 50.2 mT

C) 50.2 T

D) 50.2 kT

س28- قانون فاراداي في الحث (التحريض): 
Q28- Faraday’s law of induction is:

A) E = - dt/d(
B) t = - dE  /d(
C) E = - d(/dt
D) ( = - dE /dt
س29- القوة الدافعة المستحثة بين a و b هي:
Q29- The induced electromotive force between a and b equals:
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س30- مقدار المجال الكهربي اللازم لإبقاء الجسيم المشحون في جهاز منتخب السرعة في مسار مستقيم يساوي:
Q30- The electric field (E) needed to maintain the charged particle moving in a straight line inside a velocity selector equals:
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A) 600


B) 1500

C) 300


D) 9000
س31- عندما يكون فرق الطور بين التيار والجهد, في دائرة AC, يساوي الصفر, فأي الجمل التالية صحيحة ؟
Q31- When voltage and current are in phase in an AC circuit, the:

A) impedance is zero المعاوقة تساوي صفر



B) resistance is zero  المقاومة تساوي صفر   



C) power delivered in the circuit will be a maximum     القدرة أعلى ما يمكن


D) power delivered in the circuit will be a minimum      القدرة أقل ما يمكن   
س32- تردد الدائرة الكهربية  f  يساوي:
Q32- The frequency (f ) of the AC source is:
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A) 440


B) 2600

C) 70


D) 2763

س33- تردد الرنين ωo في الدائرة أعلاه هو:
Q33- The resonance angular frequency (ωo) is:

A) 440


B) 1000

C) 106


D) 500
س34- ممانعة (معاوقة) الدائرة هي:
Q34- The circuit impedance (Z) is:

A) 0.1


B) 0.275

C) 2.1


D) 0.834
س35- معامل القدرة هو:
Q35- The power factor equals:

A) 0.36

B) 0.8


C) 1


D) 0.6
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